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QUESTION 1

Which two components are necessary for the first boot of a host using Auto Deploy? (Choose two.)
A. Host Profiles

B. Bulk licensing

C. vSphere Authentication Proxy

D. TFTP

E. DHCP

Correct Answer: DE

QUESTION 2

What two services run on all nodes in a vCenter Server HA cluster? (Choose two.)
A. vmware-vmon

B. vmware-vpostgres

C. vmare-rbd-watchdog

D. vmware-vcha

Correct Answer: AD

QUESTION 3

Which is required by vCenter Converter Standalone to convert a physical Red Hat Enterprise Linux 7 machine to a
virtual machine?

A. The Linux machine must be powered off.

B. The Linux machine must have the SSH daemon started.

C. The Linux machine must use a static IP address.

D. The Linux machine must have a fully-qualified domain name.
Correct Answer: B

Ports used when converting a powered on machine running Linux Table contains a list of the ports that must be open
during the conversion of powered on source machines running Linux.
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Ports required during Linux P2V

Communication Path TCP Ports | Notes

Converter Standalone server | 22 Used to establish an SSH connection between the

to powered on source Converter Standalone server and the source machine.

machine

Converter Standalone client | 443 Required only if the Converter Standalone server and

to Converter Standalone client components are on different machines.

server

Converter Standalone server | 443 Required only if the conversion destination is a vCenter

to vCenter server Server.

Converter Standalone server | 443, 902 If the conversion destination is a vCenter Server, only

fo ESX/ESXi port 902 is required.

Converter Standalone server | 443

to helper virtual machine

Helper virtual machine to 22 Used to establish an SSH connection between the helper

powered on source machine virtual machine and the source machine. By default. the
IP address of the helper virtual machine is assigned by
DHCP. If no DHCP server is available on the destination
network, you must manually assign the helper virtual
machine an IP address.

QUESTION 4
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ds-lab-vsan14.dsl.vmware.com- Edit Multipathing Policies for naa.600000e00d11000000111cdZ00110000

Path selection policy

Most Recently Used (VMware)

Round Robun (VMware)
Fixed (VMware)
vmhha3g:C3: TO: 0 & Active ign. 2000-09 . com tnjitsy.storage-sysl 0

vmhba39:C2: TO:LO e Active (I/O)  ign.2000-09.com.tnjitsy.storage-sysl 0

OK ] Cancel |

Examine the LUN properties that are shown in the exhibit. Which action should be taken to utilize all active paths?

A. Change PSP to Most Recently Used

B. No action required. All paths are already utilized.

C. Change PSP to Fixed.

D. Change PSP to Round Robin.

Correct Answer: D

The host uses an automatic path selection algorithm rotating through all active paths when connecting to active-passive
arrays, or through all available paths when connecting to active-active arrays. RR is the default for a number of arrays

and can be used with both active-active and active-passive arrays to implement load balancing across paths for different
LUNSs.

QUESTION 5

An administrator is investigating virtual machine performance issues using ESXTOP. The ESXi host does
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not have hyperthreading enabled.

Which statistics would be relevant for troubleshooting VM performance issues?
A. %RDY

B. %IDLE

C. %RUN

D. CORE UTIL(%)

Correct Answer: A
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